Math 30 
Test 1 S2007
Sections 1.1 – 2.1
Name ______________________________

Always show enough work to show how you arrived at your answer.  If work is not shown, you may not earn full credit for the problem.  The point value of each problem is given on the right.

1.
Complete the following chart:
(8 points)

	Set Notation
	Interval Notation
	Graph
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2.
Evaluate the expression 
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.  Write your answer as an integer or as a reduced fraction.


(4 points)

3.
Use the graph on the right to answer:

[image: image4.wmf])

(

x

f

y

=


(21 points)



a.
Domain = ________________________

b.
Range = ________________________


c.
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d.
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e.
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f.
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g.
For what values of x is the graph NOT continuous? _______________________
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4.
Let 
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(12 points)


a.
Evaluate 
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b.
Find the domain of the function.


c.
Find 
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5.
Sketch the graph of the function 
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(8 points)

6.
Find the solution set to this equation by factoring.
(8 points)
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7.
For 
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, find and simplify:

a.
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(4 points)

b.
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(4 points)

c.
Find and simplify the difference quotient 
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(6 points)

8.
Find each limit without using a graphing calculator or making a table.
(5 points each)


a.
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b.
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9.
Find 
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 by constructing a table.  Remember to use some numbers that are less than 1 and some that are greater than 1.  Round your calculations to three decimal places.
 
(8 points)
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 = _______________
10.
Find the following limit.
(7 points)
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